











































































































Argand Diagrams
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Radian Measure

Degrees 0 300 450 600 900 1200 135 1500 18

radians o E E Iz Iz Ig 3 T

Principal angle 0 given by IT GET

The modulus of a complex number 2 acting
written as 121 or Ixtigl is the distance

2 is from the origin on an Argand diagram

121 fatty
The argument of 2 Xtiy is the

angle a line from 0 to 2 makes with
the positive real axis
This angle x is measured in radians

tai
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Modulus and Argument



Finding Moduli and Arguments
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Exercise 2B
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Exercise and Homework

Exercise 2B odd numbers 3 onwards


